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TEST FOR ENGLISH MAJORS (2014)
-GRADE FOUR-

TIME LIMIT: 135 MIN

PART I DICTATION [15 MIN]

Listen to the following passage. Altogether the passage will be read to you four times. During the first read-

ing, which will be done at normal speed, listen and try to understand the meaning. For the second and third

readings, the passage will be read sentence by sentence, or phrase by phrase, with intervals of 15 seconds. The

last reading will be done at normal speed again and during this time you should check your work. You will
then be given 2 minutes to check through your work once more.
Please write the whole passage on ANSWER SHEET ONE.

PART II LISTENING COMPREHENSION [20 MIN]
In Sections A, B and C you will hear everything ONCE ONLY. Listen carefully and then answer the
questions that follow. Mark the best answer to each question on Answer Sheet Two.

SECTION A CONVERSATIONS

In this section you will hear several conversations. Listen to the conversations carefully and then answer the
questions that follow. '

Questions 1 to 3 are based on the following conversation. At the end of the conversation, you will be given
15 seconds to answer the questions.

Now, listen to the conversation.
. 1. What are they mainly talking about in the conversation?

[A] Transport. [B] Customers. [C] Relocation. [D] Restaurants.
2. Which of the following is mentioned by Tim as a good reason for moving?

[A] Convenient parking. [B] More office space.

[C] Fewer office workers. [D] A near-by train station.
3. Why is Jane worried about winter in the new location?

[A] It is much colder there. [B] There are few activities.

[C] There are no good restaurants. [D] There is no cinema or theatre.

Questions 4 to 7 are based on the following conversation. At the end of the conversation, you will be given
20 seconds to answer the questions.
Now, listen to the conversation.
4. Miss Parkinson became interested in her own business ]
[A] before she worked for the media company [B] when she was on holiday five years ago

[C] after her friend recommended it to her [D] after she went to therapists and classes
5. Why did she ask her teachers to teach her at home?

[A] She was busier than before. [B] It was more convenient.

[C] She liked to exercise at home. [D] She was given a promotion.

6. Which of the following is NOT true according to the conversation?
[A] She recommended people to take classes.
[B] She was willing to pay more for classes at home.
[C] She left her job immediately after her promotion.
[D] She regarded the business as a pastime at first.
7. Why did she finally leave her job?
[A] She got bored with her job. [B] She saw an opportunity.
[C] She needed the money. [D] She was forced to leave.
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Questions 8 to 10 are based on the following conversation. At the end of the conversation, you will be given
15 seconds to answer the questions.

Now, listen to the conversation.
8. Which of the following is NOT mentioned about the single-lens reflex?

[A] Different lenses can be used. [B] Focusing is easier.
[C] You can see what you are taking. [D] It is cheaper and lighter.

9. According to the shop assistant, the main difference between the two types of cameras lies in
[A] lens [B] price [C] weight [D] size

10. It can be inferred from the conversation that the customer is more likely to buy in the end.
[A] a single-lens camera [B] nothing
[C] a rangefinder camera [D] several lenses instead

SECTION B PASSAGES

In this section, you will hear several passages. Listen to the passages carefully and then answer the ques-
tions that follow.

Questions 11 to 13 are based on the following passage. At the end of the passage, you will be given 15
seconds to answer the questions.

Now, listen to the passage.
11. Which of the following details about the front of the house is CORRECT?

[A] The front is pink. [B] The curtain is drawn.

[C] No window can be seen. [D] There are two doors.
12. What is to the immediate left side of the house?

[A] A washing line. [B] Another house. [C] A flat area. [D] A chimney.
13. Where is the small town in the picture?

[A] Between two hills. [B] Further to the left of the house.

[C] At the back of the house. [D] At the side of a hill.

Questions 14 to 17 are based on the following passage. At the end of the passage, you will be given 20
seconds to answer the questions.

Now, listen to the passage.
14. When did Ben first become interested in Mongolia?

[A] When he grew up. [B] When he learned Mongolian.

[C] When he returned home. [D] When he was nine years old.
15. Where did he spend most of his teenage years?

[A] In Mongolia. [B] In the Arab world. [C] In his hometown. [D] In some other regions.
16. We learn from the passage that Ben while doing his master’s degree.

[A] learned classical and modern Mongolian [B] gave up modern Mongolian

[C] became interested in classical Mongolian [D] mastered modern Mongolian

17. Which of the following details is NOT true according to the passage?

[A] Ben wants to visit Mongolia when the weather is warm.

[B] Ben considers the travel expense reasonable.

[C] The trip today is expensive considering inflation.

[D] Ben was unable to travel to Mongolia in 1971.

Questions 18 to 20 are based on the following passage. At the end of the passage, you will be given 15
seconds to answer the questions.

Now, listen to the passage.
18. What is the height of towers at Sky Greens vertical farm?

[A] 20 meters. [B] 9 meters. [C] 100 meters. [D] 40 meters.
19. Which of the following is NOT true according to the passage?

[A] The farm sells its vegetables to a local supermarket.

[B] The farm uses less water and energy to grow vegetables.
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[C] The farm causes less pollution in its production.
[D] The farm sells at the same price as imported produce.
20. According to the passage, one particular advantage of the Sky Greens is _
[A] local climate [B] local support [C] plan for expansion [D] closeness to the city

SECTION C NEWS BROADCAST

In this section, you will hear several news items. Listen to them carefully and then answer the questions that
Jollow.

Questions 21 and 22 are based on the following news. At the end of the news item, you will be given 10
seconds to answer the questions.

Now, listen to the news.
21. According to the news, Turkish police were unsure about

[A] when the woman was killed [B] the main cause of her death

[C] the woman’s identity [D] why she failed to return home
22. How many people had been detained by Turkish police?

[A] 19. [B] 9. [C] 22. [D] 33.

Questions 23 and 24 are based on the following news. At the end of the news item, you will be given 10
seconds to answer the questions.

Now, listen to the news.
23. What is the situation now in Kidal according to the news?

[A] Islamist militants are still in control of the town.

[B] French forces have entered the town.

[C] French forces are going to land at the airport.

[D] Islamist militants are attacking the airport.
24. Why did the French launch the military operation?

[A] To control Kidal airport. [B] To protect the town.

[C] To fight against Islamist militants. 3 [D] To protect the capital Bamako.

Questions 25 and 26 are based on the following news. At the end of the news item, you will be given 10
seconds to answer the questions.

Now, listen to the news.
25. Which of the following is TRUE about the immigration reform?

[A] It was proposed by a group of senators.

[B] Mr Obama had carried out the reform.

[C] Illegal immigrants would soon be given citizenship.

[D] The reform failed to improve the current system.

26. According to Obama’s 2011 blueprint, how long would it take for illegal immigrants to gain citizenship?
[A] Eight years. [B] Five years. [C] Thirteen years. [D] Eleven years.
Questions 27 and 28 are based on the following news. At the end of the news item, you will be given 10

seconds to answer the questions.

Now, listen to the news.

27. What is Lorraine Melvill's business?

[A] Running a plastic surgery clinic. [B] Arranging for surgery and safaris.

[C] Providing consultancy to local people. [D] Organizing trips to UK and America.
28. Which of the following statements is NOT true according to the news item?

[A] Local African clients helped keep her business going.

[B] Her clients were unable to pay her the money.

[C] Her business was affected by the global financial crisis.

[D] She still had as many European clients as before.
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Question 29 is based on the following news. At the end of the news item, you will be given 5 seconds to

answer the question.
Now, listen to the news.

29. What is the main idea of the news item?
[A] Foreign investment in unstable regions.
[C] Security concerns in risky countries.

Question 30 is based on the following news. At the end of the news item, you will be given 5 seconds to

answer the question.
Now, listen to the news.
30. What is the main message of the news item?

[B] BP’s presence in North Africa.
[D] Protection for foreign oil workers.

[A] London attracts shoppers from all over the world.

[B] Most people in Nigeria live in poverty.
[C] Wealthier Nigerians become a big spender.

[D] People from the Middle East are the most wealthy.

PART Il CLOZE

blanks. Mark the best choice for each blank on Answer Sheet Two.

The Victorians had become addicted to speed and
they wanted to go ever faster. Time was money and
efficiency became (31)  important. Although
division of labour had been (32) _ by Adam
Smith and illustrated by a pin factory in The Wealth
of Nations in 1776, (33) _  could now become
fully realised. This specialisation of labour was in
(34) _ contrast to the rural means of production,
in 35)  the family was the means of production
consumption and socialisation. (36) _ greater
speed came a greater need for industries and
businesses to make more and make it quicker. Steam
made this 37) _  and changed working life forever.
B8 _ were the days when work was (39)

by natural forces: steam engines were servant

(40) _ neither season nor sunshine. Factories had
foremen and life became correspondingly more
(41) The clocking-on machine was
(42) _  in 1885 and time and motion studies to
increase efficiency would be introduced only (43)
twenty years later. (44) it was not all bad
news. Agricultural incomes depended on variable

harvests and weather. Factories provided (45) _
and predictable income, but long hours.
Working life was becoming increasingly regulated,
and the working (46)  was reorganised to pro-
mote ever greater efficiency. The old (47) _  of
| St. Monday—when no work was done—was gradually
- phased out and to (48) , work stopped around
;_ midday on Saturday and did not resume (49)

Monday morning. A new division between “work”

31.

32.

33.

[A] surprisingly
[C] slowly

[A] contributed
[C] spread

[A] it

[C] these

34. [A] clear

35.

36.

37.

39.

41.

42.

[C] apparent
[A] that

[C] where
[A] Upon

[C] With

[A] possible
[C] worthwhile
[A] Passed
[C] Gone

[A] defined
[C] limited
[A] over

[C] by

[A] controlled
[C] difficult
[A] designed
[C] invented

43. [A] certain

[C] these

44. [A] For

45.

46.

47.

48.

[C] Consequently
[A] safe
[C] continuous
[A] week

[C] pattern

[A] culture

[C] custom

[A] repair
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[15 MIN]

Decide which of the choices given below would best complete the passage if inserted in the corresponding

[B] increasingly
[D] obviously
[B] informed
[D] conceived
[B] he

[D] those

[B] marked
[D] firm

[B] what

[D] which

[B] Over

[D] For

-[B] practical

[D] useful

[B] Lost

[D] Missed
[B] dictated
[D] controlled
[B] on

[D] to

[B] standard
[D] dreadful
[B] created
[D] bought
[B] some

[D] those

[B] But

[D] Accordingly
[B] good

[D] secure
[B] period
[D] practice
[B] behaviour
[D] habit

[B] compensate



and “leisure” emerged, and this new block of week- [C] mend [D] moderate

end leisure time coincided with the development of 49. [A] before [B] after
spectator sports like cricket and football, and the [C] o (D] '““t'l
(50) of music hall entertainment for the new 50.. A} Hise [Bl, increase
z [C] trend [D] presence
working classes.
PART IV GRAMMAR & VOCABULARY - [15 MIN]

There are thirty sentences in this section. Beneath each sentence there are four words, phrases or statements
marked A, B, C and D. Choose one word, phrase or statement that best completes the sentence.

Mark your answers on Answer Sheet Two.
51. It is essential that he all the facts first.

[A] is examining [B] will examine [C] examines [D] examine
52. Which of the following sentences expresses a future action?

[A] Lucy is continually finding fault with her sister.

[B] We are meeting the visitors after the performance.

[C] The coach is now crossing the Garden Bridge.

[D] ’'m hoping that you’ll give us some advice.
53. Which of the following italicized parts is used as an object complement?

[A] The front door remained locked. [B] The boy looked disappointed.
[C] Nancy appeared worried. [D] He seemed to have no money left.
54. Which of the following sentences is INCORRECT?
[A] Physics is an important school subject. [B] The United States borders Canada.
[C] The Niagara Falls is in North America. [D] Mumps is a kind of infectious disease.
55. Which of the following sentences indicates POSSIBILITY?
[A] The moon cannot always be at the full. [B] You cannot smoke inside the building.
[C] He cannot come today. [D] She cannot play the piano.
56. The boys in the family are old enough for :
[A] schools [B] school [C] the school [D] the schools
57. Which of the following italicized parts indicates a predicate-object relationship?
[A] He was reading Mary’s letter in the room. [B] You can buy men’s shoes in this shop.
[C] Mrs. Blake's passport was lost. [D] The enemy’s defeat brought the war to an end.
58. Please pardon * you.
[A] my disturbing [B] disturbing [C] me to disturb [D] that I disturb
59. Which of the following tag questions is INCORRECT?
[A] Carry this parcel for me, will you? [B] Nobody wants to go there; does he?
[C] Few people know him, don’t they? [D] Everything is ready, isn't it?
60. Which of the following reflexive pronouns (K % 4X.3) is used as an object?
[A] I spoke to the president himself. [B] You must pull yourself together.
[C] Linda herself will play the violin. [D] Frank is not quite himself today.
61. The research team can handle needs to be handled.
[A] whenever [B] whichever [C] wherever [D] whatever
62. Which of the following italicized parts modifies an adverb?
[A] Do it right now. [B] That was a very funny film.
[C] I rather like my teacher. [D] We walked about 6 miles.

63. When the sentence “They had made a mess of the house” is turned into passive voice, which of the
following is CORRECT?

[A] A mess had been made in the house. [B] A mess had been made by them.

[C] The house had been made a mess of. [D] The house had been made a mess.
64. Fool Michael is, he could not have done such a thing.

[A] who [B] as [C] that [D] like
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65. When the sentence “Shall I drive you to the airport first?” is turned into indirect speech, which of the
following is most appropriate?
[A] He agreed to drive me to the airport first.
[B] He offered to drive me to the airport first.
[C] He advised me to go to the airport first.
[D] He suggested that I drive to the airport first.
66. The interviewers were impressed by the high caliber of the applicants for the job. The underlined part

means -
[A] quality [B] criterion [C] qualification [D] level
67. Her career has a number of activities—composing, playing and acting.
[A] held [B] produced [C] embraced [D] combined
68. The operation could her life by two or three years. '
[A] prolong [B] increase [C] expand [D] continue
69. All her cousins and their children have fair hair. The underlined part means A
[A] fine [B] dark [C] thick [D] light
70. John always feels sluggish first thing in the morning. The underlined part means
[A] sick [B] inactive [C] dizzy [D] drowsy
71. The family of the victim had to endure a long wait before the case came to trial. The underlined part
means ;
[A] tolerate [B] keep [C] face [D] hold
72. The chief of surgery became committee chairman by virtue of
[A] age [B] service [C] seniority [D] rank
73. He turned his back on them when they most needed him. The underlined part means
[A] criticized ' [B] ignored [C] betrayed [D] deceived
74. Our school did not for Christmas until mid-December.
[A] break out [B] break down [C] break in [D] break up
75. The flags in the stadium . in the wind.
[A] flapped [B] moved [C] shook [D] stirred
76. His mother retired early on account of poor health. The underlined part means
[A] despite [B] with [C] because of [D] accordmg to
77. The whole country was in over the result of the elections.
[A] suspension [B] suspense [C] suspending [D] suspender

78. There is no conceivable reason why there should be any difficulty during the project. The underlined
part can be replaced by all the following EXCEPT

[A] thinkable [B] imaginable [C] possible [D] observable
79. The employers prepared, with all due , for a conference with the Trade Unions.
[A] caution [B] concern [C] certainty [D] consideration
80. Our experiment was conducted under optimal conditions. The underlined part means
[A] possible [B] proper [C] perfect [D] proposed
PART V READING COMPREHENSION [25 MIN]

In this section there are four passages followed by questions or unfinished statements, each with four sug-
gested answers marked A, B, C and D. Choose the one that you think is the best answer.
Mark your answers on Answer Sheet Two.

TEXT A

After breakfast the boys wandered out into the playground. Here the day-boys were gradually assem-
bling. They were sons of the local clergy, of the officers at the depot, and of such manufacturers or men
of business as the old town possessed. Presently a bell rang, and they all trooped into school. This con-
sisted of a large, long room at opposite ends of which two under-masters conducted the second and third
forms, and of a smaller one, leading out of it, used by Mr Watson, who taught the first form. To attach
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the preparatory to the senior school these three classes were known officially, on speech days and in re-
ports, as upper, middle, and lower second. Philip was put in the last. The master, a red-faced man with a
pleasant voice, was called Rice; he had a cheerful manner with boys, and the time passed quickly. Philip
was surprised when it was quarter to eleven and they were let out for ten minutes’ rest.

The whole school rushed noisily into the playground. The new boys were told to go into the middle,
while the others stationed themselves along opposite walls. They began to play Pig in the Middle. The old
boys ran from wall to wall while the new boys tried to catch them: when one was seized and the mystic
words said—one, two, three, and a pig for me—he became a prisoner and, turning sides, helped to catch
those who were still free. Philip saw a boy running past and tried to catch him but his limp gave him no
chance; and the runners taking their opportunity, made straight for the ground he covered. Then one of
them had the brilliant idea of imitating Philip’s clumsy run. Other boys saw it and began to laugh; then
they all copied the first; and they ran round Philip, limping comically, screaming with shrill laughter. They
lost their heads with the delight of their new amusement, and choked with helpless merriment. One of
them tripped Philip up and he fell, heavily as he always fell, and cut his knee. They laughed all the louder
when he got up. A boy pushed him from behind, and he would have fallen again if another had not caught
him. The game was forgotten in the entertainment of Philip’s deformity. Philip was completely scared. He
could not make out why they were laughing at him. His heart beat so that he could hardly breathe, and he
was more frightened than he had ever been in his life. He stood still stupidly while the boys ran round
him, mimicking and laughing; they shouted to him to try and catch them; but he did not move. He did not
want them to see him run any more. He was using all his strength to prevent himself from crying.

81. From the beginning of the passage we learn that ;

[A] the school had only three classes [B] the school only accepted day-boys

[C] some pupils came from the local area [D] Philip’s class was part of the senior school
82. What was Philip’s reaction to his class?

[A] He seemed to have enjoyed it. [B] He found his class surprising.

[C] He thought class was too short. [D] He wanted to change class.

83. In the game Philip lost his ground because
[A] the game wasn’t fit for new boys like him [B] the playground wasn't big enough for the game

[C] he did not know the rules of the game [D] he could not run as quickly as other boys
84. What did the boys do after Philip lost his ground?

[A] They continued with the game. [B] They stopped to make fun of him.

[C] They changed to another game. [D] They stopped and went inside.
85. How did Philip feel in the end?

[A] He was ashamed of himself. [B] He was very nervous.

[C] He was really horrified. [D] He felt himself stupid.
TEXT B

For parents who send their kids off to college saying, “These will be the best years of your life,” it
would be very appropriate to add, “If you can handle the stress of college life.”

Freshmen are showing up already stressed out, according to the latest research study that reported
students’ emotional health levels at their lowest since the survey started in 1985. While in school, more
students are working part-time and near-full-time jobs. At graduation, only 29 percent of seniors have jobs
lined up.

Pressure to excel often creates stress, and many students are not learning how to effectively handle
this stress. Let me share five facts that I believe every college student should know about stress.

First, stress can make smart people do stupid things. Stress causes what brain researchers call “corti-
cal inhibition”. In simple terms, stress hinders a part of the brain responsible for decision-making and reac-
tion time and can adversely affect other mental abilities as well. '

Second, the human body doesn’t discriminate between a big stressful event and a little one. Any
stressful experience will create about 1,400 biochemical events in your body. If any amount of stress is left
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unchecked, many things can occur within the body, including premature aging, impaired cognitive function
and energy drain.

Third, stress can become your new pattern. When you regularly experience negative feelings and high
amounts of stress, your brain recognizes this as your normal state. This then becomes the new pattern, or
baseline for your emotional state.

Fourth, stress can be controlled. Countless studies demonstrate that people can restructure their emo-
tional state using emotion-refocusing techniques. These techniques help you recognize how you are feeling
and shift to a more positive emotional, mental and physical state.

One technique involves slowing your thoughts and focusing on your heartbeat, breathing slowly and
deeply, and focusing on the positive feeling that you receive.

Finally, stress can be lessened if you love what you study. Barbara Frederickson, a leading internation-
al authority on the importance of positive emotions, says humans are genetically programmed to seek posi-
tive emotions such as love and joy. It is suggested to choose a major or career path you love and enjoy.
Otherwise, you could end up fighting against your own biology.

86. The author cites the latest research study in order to show that .
[A] students are studying harder in college [B] most students have part-time jobs now

[C] stress continues to the time of graduation [D] students only feel stressed while in school
87. According to the passage, stress might cause all the following negative effects EXCEPT ’

[A] social [B] mental [C] emotional [D] physical
88. In the author’s opinion, stress can be controlled by .

[A] doing what you prefer [B] focusing on your emotional state

[C] finding a more positive feeling first [D] identifying your present emotional state first
89. According to the context, what does “your own biology” mean in the last paragraph?

[A] Your current major. [B] Your preference. [C] Your future research. [D] Your future job.
90. Which of the following is the best as the title of the passage?

[A] Causes of Stress. [B] Types of Stress.

[C] College Life and Stress. [D] Stress and Control Methods.
TEXT C

For anyone who doubts that the texting revolution is upon us, consider this: The average 13- to 17-
year-old sends and receives 3,339 texts a month—more than 100 per day, according to the Nielsen Co., the
media research firm. Adults are catching up. People from age 45 to 54 sent and received 323 texts a
month in the second quarter of 2010, up 75% from a year ago, Nielsen says.

Behind the texting explosion is a fundamental shift in how we view our mobile devices. That they are
phones is increasingly beside the point.

Part of what’s driving the texting surge among adults is the popularity of social media. Sites like Twit-
ter, with postings of no more than 140 characters, are creating and reinforcing the habit of communicating
in micro-bursts.

Economics has much to do with texting’s popularity. Text messages cost carriers less than traditional
mobile voice transmissions, and so they cost users less. Sprint Nextel has reconceived its Virgin Mobile
brand to cater to heavy texters in a difficult economy. For $25 per month, users get unlimited texting,
email, social networking and 300 talk minutes; for another $15, they get an additional 900 talk minutes.
The name of the brand’s new wireless plan: “Beyond Talk.”

Texting’s rise over conversation is changing the way we interact, social scientists and researchers say.
We are now inclined to text to relay' difficult information. We stare at our phone when we want to avoid
eye contact. Rather than make plans in advance, we engage in what researchers have named “micro-coor-
dination”—“T'll txt u in 10 mins when I know wh/restrnt.”

Texting saves us time, but it steals from quiet reflection. “When people have a mobile device and have
even a little extra time, they will communicate with someone in their life,” says Lee Rainie, Director of the
Pew Internet and American Life Project.
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And the phone conversation will never be completely out. Deal makers and other professionals still
spend much of the day on the phone. Researchers say people are more likely to use text-based communi-
cation at the preliminary stages of projects. The phone comes into play when there are multiple options to
consider or important decisions to be made.

91. At the beginning of the passage, the author uses figures for the purpose of

[A] introduction [B] comparison [C] explanation [D] transition
92. According to the context, which of the following is closest in meaning to “beside the point”?

[A] Unimportant. [B] Unacknowledged. [C] Underestimated. [D] Undeniable.
93. Which of the following is NOT mentioned as a cause for texting’s popularity?

[A] Redesign of mobile devices. [B] Rise of social media.

[C] Promotion of cheaper wireless packages. [D] Increase in the number of adult texters.
94. According to the passage, texting can help people to

[A] face difficult situations [B] avoid awkward situations

[C] communicate with strangers [D] make appointments in advance
95. What is the passage mainly about?

[A] Texting’s popularity and effect. [B] Role of texting in business.

[C] Preference to texting over thinking. [D] Innovation of mobile devices.
TEXT D

The healthy adolescent boy or girl likes to do the real things in life, to do the things that matter. He
would rather be a plumber's mate and do a real job that requires doing than learn about hydrostatics sit-
ting at a desk, without understanding what practical use they are going to be. A girl would rather look af-
ter the baby than learn about child care. Logically we should learn about things before doing them and
that is presumably why the experts enforce this in our educational system. But it is not the natural way—
nor, I venture to think, the best way. The adolescent wants to do things first for only then does he appre-
ciate the problems involved and want to learn more about them.

They do these things better in primitive life, for there the adolescent boy joins his father in making
canoes and going out fishing or hunting. He is serving his apprenticeship in the actual accomplishments of
life. It is not surprising that anthropologists (A % ¥ %) find that the adolescents of primitive communities
do not suffer from the same neurotic (7% %4 fi #1) “difficulties” as those of civilized life. This is not, as some
assume, because they are permitted more freedom, but because they are given more natural outlets for
their native interests and powers and allowed to grow up freely into a full life of responsibility in the
community.

In the 19" century this was recognized in the apprenticeship system, which allowed the boy to go out
with the master carpenter or thatcher, to engage in the actual work of carpentry or roof-mending, and so
to learn his trade. In some agricultural colleges at the present time young men have to do a year's work
on a farm before their theoretical training at college. The great advantage of this system is that it lets the
apprentice see the practical problems before he sets to work learning how to solve them, and he can
therefore take a more intelligent interest in his theoretical work.

Since more knowledge of more things is now required in order to cope with the adult world, the period
of growing-up to independence takes much longer than it did in a more primitive community, and the re-
sponsibility for such education, which formerly was in the hands of the parents, is now necessarily under-
taken by experts at school. But that should not make us lose sight of the basic principle, namely the need
and the desire of the adolescent to engage responsibility in the real pursuits of life and then to learn
how—to learn through responsibility, not to learn before responsibility.

96. According to the author, what is the natural way of education?

[A] Doing things while learning. [B] Doing things as an apprentice.
[C] Doing things before learning. [D] Learning practical knowledge first.
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97. The main advantage of the natural way of education, whether in primitive or modern times, is that
learners
[A] are given opportunities to develop their interest first
[B] are given more freedom in doing things and learning
[C] can work with their masters throughout their learning
[D] can learn the trade through solving problems at work
98. According to the context, “this” in the third paragraph refers to
[A] the difficulties modern adolescents experience
[B] the amount of freedom in learning in primitive life
[C] the kind of skills boys learned from their father
[D] the way of learning in primitive communities
99. According to the author, learning should now be done in school for all the following reasons EXCEPT
that 5
[A] more subjects are to be covered
[B] more parents should be involved in teaching
[C] there should be a deeper understanding of a subject
[D] more time is needed for becoming independent
100. Which of the following best sums up the author’s main point?
[A] The apprenticeship system was effective in learning.
[B] Students should be given more freedom in learning.
[C] Students develop their interest through learning.
[D] Learning to solve problems is learning through responsibility.

PART VI WRITING [45 MIN]
SECTION A COMPOSITION [35 MIN]
An undergraduate of English at a university, in a recent letter to the university’s president, complained
about the mandatory maths classes he had to take. He said that because a language major has little use
for maths, he would forget all of his maths lessons soon after taking the required exams. What do you
think of his opinion?
Write on ANSWER SHEET THREE a composition of about 200 words on the following topic:

Should English Majors Study Maths?

You are to write in three parts.

In the first part, state specifically what your opinion is.

In the second part, provide one or two reasons to support your opinion.

In the last part, bring what you have written to a natural conclusion or make a summary.

Marks will be awarded for content, organization, language and appropriateness. Failure to follow the
instructions may result in a loss of marks.

SECTION B NOTE-WRITING [10 MIN]
Write on ANSWER SHEET THREE a note of about 50-60 words based on the following situation:
As you are taking an exam, you do not have time to meet a former schoolmate of yours at the rail-
way station. Write a note to your friend Mark/Lily, politely asking him/her to meet your schoolmate for you
and describing briefly what your schoolmate looks like.

.

Marks will be awarded for content organization, language and appropriateness.

-THE END-
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Limiting the Growth of Technology
Throughout history man has changed his physical environment to improve his way of life. / With the
tools of technology / man has altered many physical features of the earth. / He has transformed woodland
into farmland. / He has modified the face of the earth / by cutting through mountains to build roads and
railways. / However, these changes in the physical environment / have not always had beneficial results. /
Today, pollution of the air and water is a danger to the health of the planet. / Each day thousands of tons
of gases come out of vehicles. / Smoke from factories pollutes the air of industrialized areas and the sur-
rounding countryside. / The air in cities is becoming increasingly unhealthy. / The pollution of water is
equally harmful. / In the sea pollution from oil is killing a lot of sea plants and fish. / It is now necessary
for man to limit the growth of technology in order to survive on earth. /
[ W7 5 % & Jafk i) S 4 3% 1% % 45 1% . physical environment %3 ¥ 5% ;the tools of technology A F Bt ;altered #itZF;
transformed woodland into farmland i Ak 2t B4R [ ; modified 2 B ;beneficial results £ FI| ()45 % ;
come out of vehicles i % 4# /= 4 ;industrialized areas T\ 1k X 5§ ;the surrounding countryside & [l
i) % b ssurvive f71 . 73 Fbs HE X5 T 89 2 i SR AL BhiRl ) ed B S iEERSENBE .,

SECTION A CO RSATIONS
Questions 1 to 3 are based on the following conversation.

.. and there are lots of good restaurants.

: Jane, I think we should move to the country.

Oh! :

For... against. For: cheaper rent, cheaper houses, cleaner air. It's quieter. There’s not so much noise.
[2]And parking’s easier. Do you agree that these are all good reasons for moving?

: Yes, I agree. But let's talk about the things against moving. Number one. A long way from some
clients.

: Yes, but that's not a problem.

: What about communications?

There’s an airport near the new location as well as a motorway. And there are fast trains to every-
where from there.

: So communications are better than they are from here?

: I think so.

: [3]But what do we do with our spare time? I know we can go for walks in the country. Perhaps go
horse-riding. [3]But we can only do that in summer. What do we do in winter? When it's cold and
wet. It's not like here in the city, is it?

M: I agree. But in the town over there—twenty minutes by car—there are cinemas, theatres, good restau-
rants and there’s a jazz club. So, I think our company should move to the country. Do you agree?
W: I am afraid I don't.

1. [CI[ &4 |3 5T 3k 55 48 3 20 Al 454 2% (move... to) B A 4h el , & EHERM A B  EE WA RBEWEL R

S FRIF T itie . 3HE T 2 % B move, moving, i It AT HTRE £ i e #9024 %, C T relocation /& move #

) SRR 4, CIE B . LAt = TR0 HR 3] A S0 R A A R X R B B B A (R B A R RIS Y R,
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M: We have to [1Jmove the company to a new office.
W: I think that’s a great idea, Tim.

M: Good.

W: We should be in the centre of town. We'll be nearer to our customers.
M: Jane, I..

W: The transport is better...

M: Jane, I..

W:

M.

W:

M:

EE2 =

s=2F




2 [AllMA )BT REERBS T, AAHLRESEE, FFERE,ZKTH,REL ,#% %5 . AT convenient

parking f2 ¥f J X parking's easier i[5 X F#: A ER, BMC B LEMNFEHRARS; DL KE" 2L +H
DASER B EA N BEXHARMERE S THRFHES,

3. [BI[ &R | X 385 o 2o 4 42 Hi PR BB B () 22 Al 4 05 Sh B4 BE 1), dbid , TR AT AP Bk 5, (B & R E M A 4087 KX

%X, Z+-FKIR K what do we do..., HILFT At BEH L REF A, Frl#a, BIHH few ac-
tivities & R SCHIBESE , BUIEH . A A & LR K cold #4T T, HM RH.L X SWA 4TS, CHFH
restaurants #1 D 5 #1 /] cinema, theatre #2 % +#R AL X THTEHNHT, K LHAMELHBEES .

Questions 4 to 7 are based on the following conversation.

s

g2 =X

M:

£282

: So, Miss Parkinson, you organize fitness training and beauty treatments for working women?

: That’s right, Mr. Cruise.

: Could you tell me how you first got the idea for the business?

: Certainly. I suppose it all started about 5 years ago. I was on holiday and had a very bad skiing ac-

cident. I found that the only thing that helped the pain was massage and gentle exercise, like yoga or
stretching exercises. [4]So I used to go to therapists and classes after work.

: Where did you work at that time?
: In the training department of a media company.

I see.

: But then I got a promotion to training manager. [5]That meant I worked longer hours and was diffi-

cult to get to classes. I asked some of my teachers if they would come to my house instead, and
most of them agreed. It was more expensive but I thought it was worth it. Lots of my friends loved
the idea too. So I recommended people to them. [4]That’'s when I began to realize that maybe I could
make a business out of it.

: Did you give up your job then?
: [6]No, not immediately. The idea was too scary. I had a good job with a good salary, and starting my

own business seemed a bit risky. So I just did it at a hobby really.

: So why did you leave your job in the end?
: Well, the decision was made for me really. My company decided to relocate to a different town. They

offered me the choice of relocating with them or quite a large sum of money if I preferred to leave.
[7]I know an opportunity when I see it. So I took the money!
Good for you.

4. [D][#8#F ]XHE FF 3k 55 18 1) Lo B B/ I T AR 25 Bl o 4 6 4t 5 0 SR 2 LM, 2 3 ) B P % W) ) FBLEK BB B A

RE, LB, — VIR T b A AT B AR S T3 B R I AR B R, TR I
R ERITR EiR, BEREAFRSTHISE TERE, FTRILEMIARE LR, RERAOESXMEE
e, TREBUNFAZE, B, FHERE B C A RBIEEME—T14£E I could make a business), H it
AL +AEHCMEBRNXMNBREAREZ/RITMERZE DIIES, Lt EEMERN, EEREEAR LB,
# A T ) before A X ; i 4F {i BE B B O A A A&k HEBR BIL;C AN RAERA " 5 EARRT,

5. [Al[ 47 | LB FBY THISHE, TR, Bk EiR, Bk B mRkR 8, 8 A AR ER, &&$

BAHELE BEHEH CERERBAE" ;DA "B T T, M TECARSIEEMERE LROFE,

6. [CIfR#7 )5 L&t YMARAHR, L +HEA DS E# R (not immediately) ,C Ji left her job immediately 5

ZARF AEBER. ANAAZ LR B EEMNEZKER LR"H D EMLAR LEHE "H S EHA,

7. BT ERE L LIRS, AFAERES —ITHE BTUERE - ERIE - KEEET BB\ TS, TRE

T8, BT AL L HRRFE AP SR B TIERH, A“thx TERET "BARS XL KA CHTIEREY,
FOKR® i R R A B YR e, Mt A RE T ERMAIER(C ), DB R "5 EAHF,

- Questions 8 to 10 are based on the following conversation.

S¥ESFEEER

g

Good afternoon, madam.
Good afternoon. I'd like to buy a camera.

: We have all kinds of cameras here, madam. What sorts of camera are you thinking you are buying?
: Well, I don’t know anything about cameras. But my friend tells me that 35-millimeter cameras are the best.
: Well, they are certainly the much popular. Would you like a rangefinder type or a single-lens reflex?

What's the difference?

With a single-lens reflex, you actually look through the lens when you are taking a photo. So you can
see exactly what you are taking. ‘

That seems a good idea.
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: Yes, focusing is easier, too. Try this one. It's a good mate.
: Yes, I see what you mean. The image is very clear and bright.
: That’s right. Moreover, you can use a number of different lenses. Let me put a telephoto lens on for
you to try.
: My world! That's very good. I can see the people across the street as if they are inside the shop!
: [9]Being able to change the lens is very important, in my opinion. [8]/[9]You can’t do that with most
rangefinder cameras though they smaller and cheaper.
: How much is this camera?
: The list price is 5,000. But I can let you have it for 4,500.
: That's far too much! [10]Did you say that rangefinder cameras are cheaper?
: Yes, they are much cheaper.
: [10]Good! Show me some, please.
8. [D][f@4r JA“n] LA {6 B A 6] B 883k " BXHEEZ S "Ml CAT LA B IE 78471 8 A0 75 7 " 4B 2 5B - 1) £ -+ #E 7% 8 s AH HIL A
#£3 4, BR3P, K4 rangefinder HHLBRE/NEE T (HEASGEHE L, Bt D A EHRAHIAF S
9. [Al[f@47 )5 L &JE R, Mtk ) #EF B R AE AL, 76 b F ok | BB 55 3k 1R # % (very important) , K # 4 Bk 3 W BB
(rangefinder) HALREMCA R .t AT A0l 515 PIFR AR AL E B ARGk, B8 AT,
10. [C][fBHT ] 2 -+ 15 1 8 5 AH HL A A 4% 22 4500 JThY , 5E454R 5% (far too much), F & [F] 5+ . “#R K FI /2 1% rangefind-
er HOLEMEEWG? "HREEELRE , W EEAREHF ., "I J it 5 4 58 0] §8 2 3€ rangefinder H 4L .
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SECTION B PASSAGES
Questions 11 to 13 are based on the following passage.

This is a picture. In the foreground there’s a house built into the side of a bare hill. The house is ac-
tually cut out of the rock, and the front is painted white. [11]There’'s a single window with a pink curtain
across it and a wooden door. This rock house is clearly inhabited because in front of the house there is
washing hanging on a washing line in what looks like the front yard. Then, above the painted front of the
house, they've built a chimney. It's quite possible that at the back of this same hill there’s another door—
or the front of another house, perhaps. [12]At the side of the house, to the left there’s a flat area. They've
got chairs there and one person appears to be serving food. They're wearing casual summer clothes. Fur-
ther to the left is another chimney, which probably belongs to a different house. In the background of the
picture, [13]a long way from this particular bare hill, there’s another hill. Then, in between there’s a relatively
flat plain, and then there’s a small town. It looks like a town because there are a lot of white houses and
each one is quite close to the next building. This must be a hot country because the sky is blue and there
isn't much vegetation. I should think that rock houses are actually really cool and pleasant to live in.

11. [B][ 47 | &E2, B FHAmEAR T 6, A—-BEF EERGRES , Hit AfTmER A0 "M CE A2 &
PR BB AL E T IER, RERB G FRIEA —BARN] ER L EEA BB, 305 RS —
B ¥ WORT I, UG A R F BRI AOZ R A — B, 8 DA PR,

12. [CIf@#T )R &R W F TF , EFhH —F Fib(a flat area), Fitk C TIEH, A W “BAHE "EHLUEF
A B 3 77, B 0 55— #5557 FE By F 2o A B 9 3t D J90“MR 1B T HE B TR RR A B

13. [A1LRRH7 1 1 78 A oh g /N BRZE IR B, S 540 ), 75K B G TR 76 0 Lt RS D 53— BB L1, R o B0 — AL O
oY AR A — /N, R4 in between ] 1 /)NEAE B R 1L 2Z 8], 26 A,

Questions 14 to 17 are based on the following passage.

[14]Ben became interested in Mongolia early in life. When he was nine years old he read a book about
Marco Polo, about how Marco Polo traveled with his uncles on the ultimate business trip to the Mongol
Empire at its height. Marco Polo’s trip lasted almost a quarter of a century, during which he grew up,
mastered Mongolian, gained the confidence of the Mongol emperor, and then eventually returned home with
fantastic tales of strange lands and stranger people. [14]The story of Marco Polo fascinated Ben. Ben tried
to save money from his first job delivering newspapers with an eye toward a $3,000 trip to Mongolia. But
in those days it would take him years to have the money ready. So he continued to read about Mongolia
in the meantime but [15]spent most of his teenage years in the Arab world, where he learned the language
and became interested in journalism. [16]He took courses in classical and modern Mongolian while studying
for his master’'s degree and found it very difficult. But he still wants to visit Mongolia in the spring or
summer, he said. “Mongolian winters, when temperatures drop to -30°C are not for me.” The price today
with an upscale company is reasonable, Ben said, “compared to the $3,000 it was back in 1971. Today the
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same trip is around $5,000, [17]which though still a large sum, is, in terms of inflation, a good bargain.”

14. [D][#&#7 )% & FF 23], Ben 1ER /B9 B B3 52 RS, LS B T Bl - B M — A4, i b i R
5l B IR Ben 534 58 il ROGERZ DL BT,

15. [BI[f@#7 | % F 425, Ben fEPT R B KBS T O4Em 8 BIIER ., #ERARE Ben WK S ,C T LHEHER .

16. [A][ AT )5 42 2 M FE BOE A 24 G030 8], 22 3] 7 LA B S iR IR LA T 5 2 — 3, & R4 % Ben %48
S IERME, B T IS B C Xl F B R DYE R T IS E R AR,

17. [CI[#B#7 )& B /5 4R 2, A Lk 1971 4F 3000 £ 4E %%, ME R IR E 5000 £t A A , REHBMRK, B4
FE 3 58 ik, A 2R % B (a good bargain). C il H [ expensive 52 X , A B S, A“Ben 7E KSR M
B 22587 " \B“Ben A MR T 6% A 3" DFE 1971 Frflk B X Sl " 5 R EMFTF .

Questions 18 to 20 are based on the following passage.
Less than 20 miles from Singapore’s skyscrapers is a completely different set of high-rise towers. Much
smaller in scale but with a big ambition, [18]over 100 nine-meter tall towers at Sky Greens vertical farm
offer a new vision of urban sustainability. Green vegetables like Chinese cabbage are grown, stacked in
greenhouses, and sold at local supermarkets. The farm was built in 2009 and since October this year the
fully operating farm has been supplying one of city’s supermarkets with weekly deliveries of its greens.
[19]The Sky Greens produce costs around 40% more than an imported equivalent. However, the small
amount of energy and water needed to grow the vegetables, and the close proximity to the consumer,
means that carbon dioxide emitted in production and transportation is kept to a minimum. The Sky Greens
venture is supported by the Singaporean government and [20]has another advantage over other urban farms
around the world: abundant natural heating and light. Singapore has year-round temperatures of around 30
degrees Celsius and the farm is set in an open area designated by the government as an agro-technology
park, miles away from the shadow of city skyscrapers. And there are plans for the current site to expand
to produce up to two tons of greens a week next year and build over 2,000 towers in the next few years.
18. [BI[#&#47 ] Hifj[7] Sky Greens K5 B MMRE , FEHERI, XTRGH 100 £ B UK K935, K%,
19. [D][ 8847 |5 % #%),Sky Greens ¢ /4 9 R A He #E 11 69785 40%,D 1 #9 at the same price 5%, W ABE R, A“K
AR S S 4 2 T B4R FH B A (K R R IR RS "R CH AR 326 7= rp i A5 Y e "B 5 B ARAT

20. [A][###7 )% & #25],Sky Greens A #i M BUN X +5, H 57 F AT ARGt , A 5 AR 78 2 B 2Rk
P, AR HR E R 30 4 £ . i advantage over other urban farms 7] Al A“24Hy S & " IE 5 B4 #3245
C“¥ sk iR D ik i "#8-5 Sky Greens AT, {H i3 S 45 i J7 SO A U2 “Fe SR PR3, MOR %

SECTION C NEWS BROADCAST

Questions 21 and 22 are based on the following news.

The family of Sarai Sierra, an American woman who went missing in Istanbul nearly two weeks ago, is
in mourning after learning that Turkish police found her body Saturday. Turkish police found the woman's
body near ancient stone walls in Istanbul's Sarayburnu district. Police suspected she had been killed at an-
other location. [21]Police told CNN'’s sister network CNN Turk that the body of the 33-year-old mother of
two showed signs of stab wounds. However, the police chief of Istanbul, Huseyin Capkin, said Sierra died
from a blow to her head. [22]Nine suspects had been detained in connection with the woman’s disappear-
ance and death. Sierra’s family and friends first sounded the alarm last week after she did not arrive on a
return flight from Istanbul on January 22.

21. [B][f& 47 B 5 — 4> 7 - 5 i 38 A UK 2% B A 36 [ o 1A Ok, b i) P A F A 7S #E Sarayburnu i X 3% 3 | 7 R
BE Ml 2 AE 5 —Ab T B E B, &5 45 UF CNN Turk, 835 5 b4 Rl 5 /9 R 528 , S8 1 47 v 6 7 /K B 2% < B dt 58 F
SksZdr Al UL Bt i EEEH " EE I AHEN, AXE LA FON R FEPRARDEEREERE
AN,33 % BMANET L C Lt S0 " REER ;DM A BAREK " —REGEE XWREHE TH.

22. Bl R ER, 5ZLHREMETHAM N ZHREACHNE MABERN B,

Questions 23 and 24 are based on the following news.

[23]French forces say they have entered Kidal in the north of Mali, the last major town they have yet

to secure in [24]their drive against Islamist militants. French forces now control Kidal airport after a

number of aircraft, including helicopters, landed there last night. Islamist militants were reported to have

already left the town and it was unclear who was in charge. [24]France—the former colonial power in Mali

—launched a military operation this month after Islamist militants appeared to be threatening the south.

French army spokesman confirms that “French troops were deployed overnight in Kidal”. One regional

security source told the Press that French aircraft had landed at Kidal and that protection helicopters are
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in the sky. Kidal, 930 miles north-east of the capital Bamako, was until recently under the control of the

Islamist militants.

23. [BI[ @47 BT T LR B B EENSA T 5 BILF R ik /R (Kidal) , X BT EF T 2 RE S FfTah h =
R WBE—NEZERT, Bk BEEENSHFAZIRESR ., S5 ETH, EEERRERES T Kidal vl ,
P = B A AR IREC AR, Bt A“GHr = R AR 1 i " C 3k H FE BAK B R HL3% " Fn D47
B2 RS FEREIG " RIEH .

24. [C][f#47 | &% — st R BTS2 R4 7, P EB SR EEER D ENER SR E  EF 2R
EBaFrlecBBBIE TG, EERS T EHTE, Bk C X Hifp i 2 RES T EWH.

Questions 25 and 26 are based on the following news.

US President Barack Obama has said the time has come for a review on the US immigration system.
He made his case at a high school in Las Vegas, Nevada, [25]a day after a group of senators outlined a
framework for reform. The White House and senators envisage a path to citizenship for many of an esti-
mated 11 million undocumented immigrants in the US. He noted that the current system was “out of date
and badly broken”. Mr Obama’s case for an immigration reform reflects a blueprint he rolled out in 2011,
though that did not go far. Mr Obama now backs the Senate plan including making illegal immigrants pay
taxes and fines, and sending them to the back of the queue before they can become American citizens. His
2011 blueprint also focused on a path to permanent residency and eventual citizenship. [26]After eight years,
individuals would be allowed to become legal permanent residents and would eventually become citizens
five years later, according to his 2011 blueprint.

25. [Allfg#r | R E LIRS, REDRA N RXER R EHTRIT NI 2 M2 535 U5 765050 4k hn 87 69 — Br
HHRIRBE T X —F M Ml —XZSWABE T (outlined) IHEMELR, AEATH ABREFERESWRAERHG"
Ef, BREFEERED 2011 4 RR 0 B A Bt LB {2 did not go far WKL, B“RE L E %L
MBS A, MR HE 2011 4F A9 K 1B AE R R ACH & Bk A B RE AR AR 2 BB 20 5 1L4F  CH AR B
RMBREFBMARFB"SZAF, BREELKRLHE, 8 DHERAUERENRLE " A EH.

26. [Cl[B#T | R ERFRD,ME 2011 FRHERE , FEEBRBEAIESEKATERENE BAN N A RETHFHLE,
H i — T E 13 4,

Questions 27 and 28 are based on the following news.

In a suburb in northern Johannesburg South Africa, Lorraine Melvill is running around trying to [27]or-
ganize hospital visits for her clients staying in her guest house. She started her business, “Surgeon and Sa-
fari,” back in 2000 and since then she has had people from all over the world come to her [27]to facilitate
their cosmetic procedures, and perhaps go on safari too. “For most people in the first-world economies like
the UK, and especially in America, their biggest desire is to go on African safari,” she explains, “and yet
their greatest want in their life was to have plastic surgery, so why not put the two together?” Like most
companies, [28]however, Surgeon and Safari was hit by the global financial crisis, particularly as a number
of Melvill's clients were borrowing money to afford their procedures. However, whilst the United States and
eurozone economies may have languished, Melvill says that [28]she has benefited from the growth of some
African countries’ economies. “There is a huge emergence of local Africans that chose to come to South
Africa for elective surgery, whether it be breast reduction, tummy tucks,” she says.

27. [BI| B4R |7 06 & A0 42 21, 75 7l 1k 298 P9 17 2 L 3528 X, Lorraine Melvill i [ 46 48 4 75 fib 5¢ e 1 69 % 5 25 B B 4R
Vi, HEH UL FAE 2000 4 FF 4 T “HhAE B A2 FARAT SR IS " O A= R, 5545 b i A #B S 8 b A 5 {8 OB A F R 8
AT BB K RATHRE . BRI A1 Melvill B9 48 B2 BYLHEF AR FARATIRR ", Melvill f94: ¥ R M, H ¥ A
HOZLELH, M ACEBELH" C4A % AR "M DA M FEEMIRIT AR,

28. [D][M@#r | R ERE IR EEMKRTER " ZLREMANNE AHEREE P EEERA MG Am , RE
FEMEKTEX 25 Al iR, Melvill A—263E M H R ML 5K rhakas . Bk, A“EI 23t % F 06 ok g 2 FE 15
PI4RSE" B“% ' Foik A e tth " Fn C“ il il 95 32 4 BR 4 Rl s ML ey "0 55 SR SCARAF D b AR A AT —#E AT SR A5 0
ZRRMZ PR IRA AR BE R

Question 29 is based on the following news.

The bloodshed at In Amenas has left the oil and gas industry [29]struggling to come to terms with
what it might mean for investment in risky countries. Bob Dudley, BP's chief executive says the company
is “reviewing security” at its other facilities in the region and around the world. The attack is the worst
tragedy of its kind in living memory despite the energy industry’s presence in many unstable regions. BP
has “never experienced an attack on this scale before”, Mr Dudley says. Security remains a top priority in
countries such as Iraq, where there have been instances of workers being kidnapped. The perception of

TEM 4 2014 - 15




